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5cm 50cm 100c¢m

Ot dhivER (L) 0.05 0.06 — PA-1000

QIR ERIZAT1 0.06 0.06 — PA-1000

QREILETER1 0.07 0.06 — PA-1000

@R EIEE2 0.08 0.08 — PA-1000

o) BE G FERIED 0.04 0.04 — PA-1000

VISR e 0.06 0.06 — PA-1000

(@)l Tk 0.06 0.07 — PA-1000

@1 ExIFAT2 0.09 0.08 — PA-1000

OflE L 0.08 0.08 — PA-1000

15 0.05 0.05 — PA-1000

Ot dhlvEs (L) 0.04 0.05 — PA-1000

QI ERIZAT1 0.07 0.08 — PA-1000

QREITER 0.07 0.07 — PA-1000

@ EIEE2 0.07 0.08 — PA-1000

. O EmRE 0.05 0.05 — PA-1000

il Gy 0.05 0.06 — PA-1000

@¥th E FE &R 0.07 0.06 — PA-1000

@ ExIFAT2 0.07 0.09 — PA-1000

OfIEL 0.05 0.06 — PA-1000

15 0.05 0.05 — PA-1000
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B E - KR Bl AEERATALZANEEE) | e i
5cm 50cm 100c¢m

Ot dhivER (L) 0.06 0.05 — PA-1000

QIR ERIZAT1 0.07 0.06 — PA-1000

QREILETER1 0.05 0.05 — PA-1000

@R EIEE2 0.06 0.06 — PA-1000

= O ERE 0.06 0.06 — PA-1000

101 RIRY O EFESD 0.07 0.06 — PA-1000

(@)l Tk 0.05 0.06 — PA-1000

@1 ExIFAT2 0.08 0.08 — PA-1000

OflE L 0.07 0.07 — PA-1000

15 0.05 0.04 — PA-1000

Ot dhlvEs (L) 0.05 0.05 — PA-1000

QI ERIZAT1 0.07 0.09 — PA-1000

QREITER 0.04 0.04 — PA-1000

@ EIEE2 0.05 0.05 — PA-1000

. OBERED 0.05 0.05 — PA-1000

AL 0.04 0.04 — PA-1000

@¥th E FE &R 0.03 0.04 — PA-1000

@ ExIFAT2 0.06 0.06 — PA-1000

OflE L 0.07 0.07 — PA-1000

15 0.04 0.05 — PA-1000
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5cm 50cm 100c¢m

Ot dhivER (L) 0.03 0.04 — PA-1000

QIR ERIZAT1 0.07 0.08 — PA-1000

QREILETER1 0.05 0.05 — PA-1000

@R EIEE2 0.06 0.05 — PA-1000

o) BE G FERIED 0.04 0.04 — PA-1000

TR e s 0.0 0.05 — PA-1000

(@)l Tk 0.06 0.05 — PA-1000

@1 ExIFAT2 0.06 0.07 — PA-1000

OflE L 0.07 0.07 — PA-1000

15 0.05 0.06 — PA-1000

Ot dhlvEs (L) 0.04 0.04 — PA-1000

QI ERIZAT1 0.06 0.06 — PA-1000

QREITER 0.06 0.07 — PA-1000

@ EIEE2 0.06 0.06 — PA-1000

. O EmRE 0.05 0.05 — PA-1000

A 0.06 0.08 — PA-1000

@¥th E FE &R 0.06 0.05 — PA-1000

@ ExIFAT2 0.06 0.06 — PA-1000

OflE L 0.07 0.07 — PA-1000

15 0.06 0.06 — PA-1000
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5cm 50cm 100c¢m
Ot dhivER (L) 0.04 0.04 — PA-1000
QIR ERIZAT1 0.06 0.06 — PA-1000
QREILETER1 0.06 0.05 — PA-1000
@R EIEE2 0.05 0.06 — PA-1000
. O ERE 0.04 0.04 — PA-1000
IR e 0.05 0.05 — PA-1000
(@)l Tk 0.06 0.06 — PA-1000
@1 ExIFAT2 0.05 0.05 — PA-1000
OflE L 0.08 0.08 — PA-1000
15 0.05 0.05 — PA-1000
Ot dhlvEs (L) 0.04 0.05 — PA-1000
QI ERIZAT1 0.07 0.08 — PA-1000
QREITER 0.09 0.09 — PA-1000
@ EIEE2 0.05 0.06 — PA-1000
. O BEF AR 0.07 0.07 — PA-1000
VOREN e mm 0.07 0.07 — PA-1000
@¥th E FE &R 0.05 0.07 — PA-1000
@ ExIFAT2 0.08 0.09 — PA-1000
OfIEL 0.06 0.07 — PA-1000
15 0.06 0.06 — PA-1000

5/26

(33)



BHE—/PNERICE T OB RERTHER

e 48105

TR 204F
B E - KR Bl AEERATALZANEEE) | e i
5cm 50cm 100c¢m
Ot dhivER (L) 0.05 0.05 — PA-1000
QIR ERIZAT1 0.07 0.06 — PA-1000
QREILETER1 0.05 0.05 — PA-1000
@R EIEE2 0.09 0.09 — PA-1000
" O BEF AR 0.07 0.07 — PA-1000
102 o 0.05 0.05 — PA-1000
(@)l Tk 0.09 0.07 — PA-1000
@1 ExIFAT2 0.04 0.05 — PA-1000
OflE L 0.08 0.07 — PA-1000
15 — — — PA-1000 &l
Ot dhlvEs (L) 0.05 0.04 — PA-1000
QI ERIZAT1 0.07 0.07 — PA-1000
QREITER 0.06 0.06 — PA-1000
@ EIEE2 0.06 0.07 — PA-1000
. O EmRE 0.09 0.09 — PA-1000
VIR s EEe 0.06 0.06 — PA-1000
@¥th E FE &R 0.07 0.07 — PA-1000
@ ExIFAT2 0.06 0.06 — PA-1000
OfIEL 0.08 0.08 — PA-1000
15 0.07 0.07 — PA-1000
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5cm 50cm 100c¢m
Ot dhivER (L) 0.05 0.05 — PA-1000
QIR ERIZAT1 0.07 0.07 — PA-1000
QREILETER1 0.07 0.08 — PA-1000
@R EIEE2 0.07 0.07 — PA-1000
= O ERE 0.07 0.08 — PA-1000

10/3(RYZEY O EFESD 0.10 0.09 — PA-1000
(@)l Tk 0.06 0.07 — PA-1000
@1 ExIFAT2 0.08 0.09 — PA-1000
OfIEL 0.11 0.09 — PA-1000 28410 A BIE A 5B N
15 0.07 0.07 — PA-1000
Ot dhlvEs (L) 0.04 0.05 — PA-1000
QI ERIZAT1 0.16 0.11 — PA-1000
QREITER 0.12 0.11 — PA-1000
@ EIEE2 0.06 0.08 — PA-1000

4/18(A)EEN  |ORERSES 0.08 0.08 — PA-1000
OB EESD 0.08 0.09 — PA-1000
@¥th E FE &R 0.08 0.09 — PA-1000
@ ExIFAT2 0.06 0.08 — PA-1000
i5 0.07 0.08 — PA-1000
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5cm 50cm 100c¢m

Ot dhivER (L) 0.07 0.07 — PA-1000
QIR ERIZAT1 0.05 0.05 — PA-1000
QREILETER1 0.08 0.09 — PA-1000
@R EIEE2 0.06 0.07 — PA-1000

10/1(R) BN |OKRERE 0.07 0.08 — PA-1000
O EFESD 0.07 0.09 — PA-1000
(@)l Tk 0.11 0.09 — PA-1000
@1 ExIFAT2 0.08 0.08 — PA-1000
bi5 0.09 0.11 — PA-1000
Ot dilER (L) 0.04 0.05 — PA-1000
QBER G A1 0.08 0.08 — PA-1000
QREI LR 0.08 0.08 — PA-1000
@REIEE2 0.09 0.08 — PA-1000

4/200A)EY |OKEmRSEH 0.10 0.12 — PA-1000
@REETEER 0.10 0.09 — PA-1000
@Etth I T8 &7 0.11 0.09 — PA-1000
@RS A2 0.05 0.06 — PA-1000
15 0.08 0.08 — PA-1000

8/26

(33)



e 48105

BHE—/PNERICE T OB RERTHER

TRi264EE _
N: = = [ == ;ﬂ'lifE(V’f@D’/—’\‘)bFﬁH‘!r) H ==
BIEB-XKIE I E Hh s Sor 500 00T BIE S e
Ot ER (1) 0.09 0.11 — PA-1000
QIEER BT 0.07 0.09 — PA-1000
QREIEER 0.06 0.07 — PA-1000
@RBEILEER2 0.07 0.09 — PA-1000
1/5(R)EN  (ORERSE 0.04 0.07 — PA-1000
O BEFEED 0.08 0.10 — PA-1000
DBt 78 &0 0.08 0.11 — PA-1000
@IEERIHT2 0.07 0.08 — PA-1000
b1z 0.08 0.11 — PA-1000
Dt hiER (1) 0.05 0.06 — PA-1000
QIR ERI5AT1 0.07 0.08 — PA-1000
QREILEER 0.05 0.07 — PA-1000
@iREILEER2 0.06 0.08 — PA-1000
10/1(K)EY  |OREREE 0.11 0.14 — PA-1000
O BERER 0.09 0.10 — PA-1000
(D ek 3t ey 78 0 0.09 0.11 — PA-1000
® KI5 AT2 0.06 0.09 — PA-1000
FhiZ 0.09 0.11 — PA-1000
Ot h i ER (L) 0.04 0.05 — PA-1000
QIEER BT 0.06 0.08 — PA-1000
QRREILEHEER 0.06 0.07 — PA-1000
o @R BEILEHER2 0.06 0.08 — PA-1000
TR S 0.14 017 — PA-1000
O BERE 0.08 0.11 — PA-1000
(DBt e 78 50 0.07 0.10 — PA-1000
@IEEL B2 0.07 0.09 — PA-1000
fibi5 0.08 0.11 — PA-1000
DEg i rhLER (1) 0.05 0.06 — PA-1000
Q&5 1 0.13 0.13 — PA-1000
E BEEILERER 1 0.07 0.08 — PA-1000
- DREIEE2 0.08 0.09 — PA-1000
TRBI Sk 0.14 0.14 — PA-1000
@©REEFEER 0.10 0.11 — PA-1000
(DEh 3t e 78 0 0.15 0.13 — PA-1000
OEELIHT2 0.08 0.08 — PA-1000
b i5 0.11 0.12 — PA-1000
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5cm 50c¢m 100c¢m

Ot dER (L) 0. 05 0. 05 — PA-1000

QEERIZAT 0. 07 0.08 — PA-1000

QREILTER 0.08 0. 07 — PA-1000

3/7(&) @ EIEE2 0. 08 0. 09 — PA-1000

En OBERILH 0.12 0.13 — PA-1000

O EREE 0. 09 0. 11 — PA-1000

@Etth E T8 &R 0. 09 0.10 — PA-1000

hi5 0.10 0.12 — PA-1000

Ot diER (1) 0. 05 0. 06 — PA-1000

OBERIHFT 0. 07 0. 08 — PA-1000

QREI LR 0. 07 0.08 — PA-1000

2,/20(K) |@KEILERER2 0. 09 0. 10 — PA-1000

A OBERTER 0. 11 0.13 — PA-1000

@REFELR 0.12 0.10 — PA-1000

@Eth R T8 &7 0.12 0.12 — PA-1000

bi5 0.12 0.13 — PA-1000

Ot dER (1) 0. 05 0. 05 — PA-1000

OIBERIZFT 0. 08 0. 09 — PA-1000

. ORREILRER 0. 08 0. 09 — PA-1000

f'z/fgfg) @ REL 2 0. 08 0. 09 — PA-1000

B O BEFED 0.15 0.14 — PA-1000

ORETEE 0. 10 0.10 — PA-1000

@#th R T8 &R 0.13 0. 11 — PA-1000

15 0.10 0.13 — PA-1000
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TR 254
B B KA I A8 (RATOY IR BE) | oo W
5cm 50cm 100cm
OghithdhivEs (L) 0. 05 0. 06 — PA-1000
QIR IZPT 0. 08 0. 09 — PA-1000
QREILETER1 0. 07 0. 08 — PA-1000
126 (%) @OREIEE2 0. 09 0. 09 — PA-1000
AN G RERTED 0. 11 0. 11 — PA-1000
O EESD 0. 09 0.10 — PA-1000
(@)l Tk 0.16 0.12 — PA-1000
15 0.10 0. 11 — PA-1000
Ot hiivEs (L) 0. 05 0. 06 — PA-1000
QIR IBAT 0. 07 0. 08 — PA-1000
QREITER 0. 07 0. 07 — PA-1000
11711(8) |OREILRER2 0. 09 0. 09 — PA-1000
ZY Ok BERTER 0.18 0.15 — PA-1000
OB EE 0. 11 0.10 — PA-1000
@¥th E FE &R 0.12 0. 11 — PA-1000
15 0. 09 0.12 — PA-1000
Ot hilvEs (L) 0. 06 0. 06 — PA-1000
QIEERIGAT 0. 07 0. 08 — PA-1000
QKEEILEER1 0. 08 0. 08 — PA-1000
1079 (K) @ BELERER2 0. 09 0. 09 — PA-1000
En GRRRERTED 0. 11 0. 11 — PA-1000
O EESE 0. 11 0. 11 — PA-1000
Q¥ E FE &R 0. 15 0. 11 — PA-1000
5 0. 09 0.12 — PA-1000
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5cm 50cm 100cm

OghithdhivEs (L) 0. 06 0. 06 — PA-1000

QIR IZPT 0. 07 0. 09 — PA-1000

QREILETER1 0. 06 0. 09 — PA-1000

9./11(K) @OREIEE2 0. 10 0. 09 — PA-1000

AN G RERTED 0.18 0.17 — PA-1000

O EESD 0.10 0. 11 — PA-1000

(@)l Tk 0.14 0.12 — PA-1000

15 0. 11 0.13 — PA-1000

Ot hiivEs (L) 0. 06 0. 06 — PA-1000

QIR IBAT 0. 08 0. 09 — PA-1000

QREITER 0. 07 0.08 — PA-1000

8./8(K) @ BEILEER2 0.12 0. 11 — PA-1000

En G RERTED 0.10 0.13 — PA-1000

OB EE 0.10 0.12 — PA-1000

@¥th E FE &R 0.14 0.13 — PA-1000

15 0.10 0.12 — PA-1000

Ot hilvEs (L) 0. 09 0. 08 — PA-1000

QIEERIGAT 0. 07 0. 08 — PA-1000

QKEEILEER1 0. 09 0.12 — PA-1000

7./ 4(K) @ BELERER2 0. 08 0. 09 — PA-1000

&Y Ot RERTED 0.18 0.16 — PA-1000

O EESE 0. 09 0. 11 — PA-1000

Q¥ E FE &R 0.12 0.12 — PA-1000

5 0.10 0.12 — PA-1000
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A E - X AEA Lt ShdakAsdmicld i SR ) F %
5cm 50cm 100cm

OghithdhivEs (L) 0. 06 0. 06 — PA-1000

Q1RGN 0. 09 0. 09 — PA-1000

QREILETER1 0. 07 0. 08 — PA-1000

6.7 (%) @OREIEE2 0. 08 0. 09 — PA-1000

=Y OrkBERTER 0.15 0.13 — PA-1000

O EESD 0.12 0.12 — PA-1000

(@)l Tk 0. 11 0. 11 — PA-1000

15 0. 09 0.12 — PA-1000

Ot hiivEs (L) 0. 07 0. 07 — PA-1000

QI ERIZAT 0. 08 0. 08 — PA-1000

QREITER 0. 21 0. 21 — PA-1000

5210k |@®EILERE2 0.12 0.12 — PA-1000

En G RERTED 0. 20 0. 20 — PA-1000

OB EE 0.10 0.10 — PA-1000

@¥th E FE &R 0.13 0.12 — PA-1000

15 0. 11 0.12 — PA-1000

Ot hilvEs (L) 0. 06 0. 07 — PA-1000

QIEERIGAT 0. 07 0. 08 — PA-1000

QKEEILEER1 0. 07 0. 08 — PA-1000

418(K) |@wEILERER2 0. 11 0.10 — PA-1000

En GRRRERTED 0.12 0. 12 — PA-1000

O EESE 0.15 0.14 — PA-1000

Q¥ E FE &R 0.14 0.12 — PA-1000

5 0.10 0.12 — PA-1000
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A E - X AEA AEREATRLZNEER)_ ] gy %
5cm 50cm 100cm
IFREZE(BN) — 0. 07 0. 07 PA-1000
3 180K) 2Y QFH=E(BMN) — 0. 07 0.08 PA-1000
SFHE(BA) — 0. 08 0. 09 PA-1000
AREE(EN) — 0. 06 0. 06 PA-1000
Ot dhiivEs (L) 0. 09 0.08 — PA-1000
Qw5 0. 10 0.12 — PA-1000
QREILETER1 0. 08 0. 09 — PA-1000
3/1(KR) Bh |@REIFEER2 0. 08 0. 09 — PA-1000
O EmRE 0.16 0.16 — PA-1000
OB EE 0. 11 0. 11 — PA-1000
@Eh Ea Pa &) 0.13 0. 11 — PA-1000
Ot dilER (1) 0. 07 0. 08 — PA-1000
Qw15 0. 11 0.13 — PA-1000
QREI LR 0.08 0. 08 — PA-1000
2/8(&) BN |@OREILERSE2 0. 09 0. 09 — PA-1000
G ERE 0.13 0.15 — PA-1000
@REFELR 0.14 0.14 — PA-1000
@Eth E T8 &R 0. 11 0.12 — PA-1000
IFREZE(BN) — 0. 07 0.15 PA-1000
. FHE(BN) — 0. 08 0. 08 PA-1000
2760K) WA IFHE (W) — 0. 09 0. 09 PA-1000
AEE(EN) — 0. 06 0. 07 PA-1000
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TR 244EE
A E - X AEA AEREATRLZNEER)_ ] gy %
5cm 50cm 100cm
IFRBEE(BN) — 0. 08 0. 08 PA-1000
1K) R FHE(BM) — 0. 08 0. 08 PA-1000
SFH=E (BA) — 0. 07 0. 08 PA-1000
AREE(EN) — 0. 05 0. 05 PA-1000
Ot dhiivEs (L) 0. 07 0. 07 — PA-1000
Qw5 0. 11 0.12 — PA-1000
— QREILETER1 0. 06 0. 08 — PA-1000
11(8) Bh |VRELRE2 0.10 0. 11 — PA-1000
O EmRE 0.18 0.19 — PA-1000
OB EE 0.12 0.12 — PA-1000
@Eh Ea Pa &) 0.13 0.13 — PA-1000
IFREZE (BW) — 0. 08 0. 08 PA-1000
L. |2FE%=EER) — 0. 08 0. 08 PA-1000
127120K) B IFKE(BA) — 0. 08 0. 08 PA-1000
AREE(EN) — 0. 07 0. 07 PA-1000
OguthdER (1) 0. 07 0. 08 — PA-1000
Q15 0. 10 0.13 — PA-1000
QREI TR 0. 09 0.10 — PA-1000
1277(%) Bh |OREILEE?2 0. 09 0. 09 — PA-1000
G EmRE 0. 23 0. 20 — PA-1000
@REFELR 0.13 0.16 — PA-1000
@#th R T8 &R 0.17 0.14 — PA-1000
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TR 244EE
A E - X AEA AEREATRLZNEER)_ ] gy %
5cm 50cm 100cm

OghithdhivEs (L) 0. 08 0.08 — PA-1000

Qw5 0. 10 0.13 — PA-1000

QREILETER1 0. 09 0. 09 — PA-1000

1M112(A) Bh |OREILEER2 0. 10 0. 09 — PA-1000

O ERE 0. 23 0. 20 — PA-1000

O EESD 0.12 0.13 — PA-1000

@EHh E PE & 0.12 0.12 — PA-1000

IFREZE (BW) — 0. 08 0. 08 PA-1000

N = [2FEEERN) — 0. 09 0. 08 PA-1000

17600 IFKE(BA) — 0. 09 0. 09 PA-1000

AREE(ER) — 0. 06 0. 06 PA-1000

IFREZE (BW) — 0. 08 0. 09 PA-1000

o 12(8) Bh FHE(BM) — 0. 07 0. 08 PA-1000

IFKE(BA) — 0. 09 0. 09 PA-1000

AREE(EN) — 0. 06 0. 05 PA-1000

OguthdER (1) 0. 07 0. 08 — PA-1000

Q15 0. 09 0.12 — PA-1000

QREI TR 0. 07 0. 07 — PA-1000

10.75(&) &Y |OREILEE2 0.12 0.14 — PA-1000

G EmRE 0.16 0.18 — PA-1000

@REETEER 0.14 0.15 — PA-1000

@B E PE & 0.12 0.14 — PA-1000
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TR 244EE
A E - X AEA AEREATRLZNEER)_ ] gy %
5cm 50cm 100cm
IFRBEE(BN) — 0. 07 0. 08 PA-1000
o 130K) BEAL FHE(BM) — 0. 09 0. 08 PA-1000
SFH=E (BA) — 0. 07 0. 08 PA-1000
AREE(EN) — 0. 05 0. 06 PA-1000
Ot dhiivEs (L) 0. 08 0.08 — PA-1000
Qw5 0. 08 0. 11 — PA-1000
QREILETER1 0. 07 0. 07 — PA-1000
9./7(&) Bh |@REIFELR2 0. 09 0.10 — PA-1000
O EmRE 0.10 0.12 — PA-1000
OB EE 0. 21 0.16 — PA-1000
@Eh Ea Pa &) 0.16 0.13 — PA-1000
IFREZE (BW) — 0. 07 0. 09 PA-1000
FHE(BM) — 0. 07 0. 08 PA-1000
IFHE (BA) — 0. 08 0. 08 PA-1000
AREE(EN) — 0. 06 0. 06 PA-1000
OguthdER (1) 0. 09 0. 09 — PA-1000
8/7(k) Bh |QmiE 0. 11 0.14 — PA-1000
QREI TR 0.15 0.14 — PA-1000
@BELEER2 0. 22 0. 22 — PA-1000
G EmRE 0.16 0.17 — PA-1000
@REETEER 0.19 0.14 — PA-1000
@B E PE & 0.15 0.14 — PA-1000
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TR 244EE
A E - X AEA AEREATRLZNEER)_ ] gy %
5cm 50cm 100cm

IFRBEE(BN) — 0. 08 0. 08 PA-1000
FHE(BM) — 0. 08 0. 08 PA-1000
SFH=E (BA) — 0. 08 0. 08 PA-1000
AREE(EN) — 0. 06 0. 07 PA-1000
Ot dhiivEs (L) 0. 09 0. 09 — PA-1000

176(&) £Y |OwiE 0.10 0.15 — PA-1000
QREILETER1 0. 26 0.18 — PA-1000
@ EIEE2 0. 24 0. 21 — PA-1000
O EmRE 0. 23 0. 23 — PA-1000
OB EE 0.16 0.17 — PA-1000
@Eh Ea Pa &) 0.10 0.13 — PA-1000
IFREZE (BW) — 0. 08 0. 07 PA-1000
FHE(BM) — 0. 07 0. 08 PA-1000
IFKE(BA) — 0. 08 0. 08 PA-1000
AREE(EN) — 0. 06 0. 07 PA-1000
OguthdER (1) 0.12 0. 11 — PA-1000

6.11(A) £Y |Qmi5 0.10 0.14 — PA-1000
QREI TR 0.17 0.15 — PA-1000
@BELEER2 0. 26 0. 21 — PA-1000
G EmRE 0.17 0. 20 — PA-1000
@REFELR 0.16 0. 20 — PA-1000
@#th R T8 &R 0.12 0.12 — PA-1000
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—— S BEME (M0 —RN)LEF) —
/ﬂ“l‘EE fﬂ; /E“Eﬂ:ﬁ Som 50cm 100¢em /ﬂ“lE%g 1%%
IFRBE=E(BN) — 0. 07 0. 09 PA-1000
FHE(BM) — 0. 08 0. 08 PA-1000
FH=E (BA) — 0. 09 0. 08 PA-1000
AREE(EN) — 0. 06 0. 07 PA-1000
Ot hivER () 0.10 0.10 — PA-1000
5/11(%) Bh |Qmis 0.13 0.15 — PA-1000
QREILETER1 0.16 0.19 — PA-1000
@ EIEE2 0. 25 0. 23 — PA-1000
O ERE 0. 23 0.19 — PA-1000
O EFED 0. 21 0.18 — PA-1000
@Bt F 78 &) 0.13 0.15 — PA-1000
1IFREZE (BW) — 0. 08 0. 09 PA-1000
4 20(&) By FHE(BM) — 0. 08 0. 08 PA-1000
IFKE(BW) — 0. 08 0. 08 PA-1000
AREE(ER) — 0. 07 0. 08 PA-1000
OguthdER (1) 0. 11 0.12 — PA-1000
Q15 0. 10 0.13 — PA-1000
QEI TR 0. 30 0. 28 — PA-1000
416(A) BBh |OREILEL2 0. 31 0.27 — PA-1000
O ERED 0.22 0. 23 — PA-1000
@REETEER 0. 15 0.18 — PA-1000
@E 3t 78 &7 0.18 0.16 — PA-1000
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1IFREOERA) — 0. 09 0.10 PA-1000
L. |2FE&=E(BR) — 0. 09 0.08 PA-1000
SA8R) B T (BR) _ 0. 08 0.10 PA-1000
AREE(EN) — 0. 08 0. 08 PA-1000
Ot dhivER () 0.15 0.15 — PA-1000
Qw5 0. 11 0.15 — PA-1000 BA7RAICHOABZELEL,
QREILETER1 0. 26 0. 26 — PA-1000
3/13(K) B |@EILEER2 0. 26 0. 23 — PA-1000
O EmRE 0. 28 0. 28 — PA-1000
O EFEHD 0. 26 0. 20 — PA-1000
@Bt F 78 &1 0.16 0.17 — PA-1000
1IFREZE (BW) — 0.10 0. 09 PA-1000
2 150K BY QFHE(BMN) — 0. 09 0. 09 PA-1000
FERT (BA) — 0. 09 0. 09 PA-1000
AREE(ER) — 0. 07 0. 07 PA-1000
Ot dER (1) — 0.14 0.13 PA-1000
Q15 0. 26 0. 29 0. 27 PA-1000
QEI TR — 0. 30 — PA-1000
276(A) M |@OKEIFEER2 — 0. 30 — PA-1000
O ERED — 0. 22 — PA-1000
@REETEER — 0. 25 — PA-1000
@B Ea 7 &R — 0. 20 — PA-1000
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HIZE B - X1 B TE Hh B
E fix Al 5E ih o T o Bl E 25 wE
IFREE(BA) — 0.10 0. 09 PA-1000
\23(A) 2Y FHE(BR) — 0. 09 0. 10 PA-1000
FL=E (BN) — 0. 09 0. 10 PA-1000
ABEEERN) — 0. 08 0. 08 PA-1000
2FH = (BN) — 0. 08 0. 08 PA-1000
L180K) BN ZF#Q%(EW) — 0. 09 0. 08 PA-1000
1FOE—(BM) — 0. 09 0. 09 PA-1000
ABEEEN) — 0. 06 0. 06 PA-1000
A8t ER (1) — 0.17 0.14 PA-1000
Qw5 0. 21 0. 25 — PA-1000
. QREALERER — 0. 28 — PA-1000
1/1:5(@2;‘#;%& @RpEALRER2 — 0. 26 — PA-1000
O EmRER — 0. 21 — PA-1000
OREMmER — 0. 20 — PA-1000
DEhh i FE &R — 0.18 — PA-1000
b ER (L) — 0.14 0.15 PA-1000
12.7200K) EEN |FbiS 0. 23 — — PA-1000
J—ILEEEAA — 0. 32 — PA-1000
IFREE(BA) — 0. 09 — PA-1000
FEE(BW) — 0. 09 — PA-1000
12,715 Eh
() B IFHE(BR) — 0. 08 — PA-1000
AEE(EN) — 0. 08 — PA-1000
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FRE234EE
- i AIEE (MO0 —XN )L ERF) .
A - XA B 7E = AIE
BI%E B - Xfx | 7E Hh Bon 506 100en B 35 =3
AT ERILER — 0. 31 — PA-1000
ABERFEED — 0. 48 — PA-1000
11,725(&) WS
(&) BN e EnE — 0. 29 — PA-1000
PACZIIPIN:] — 0. 27 — PA-1000
IFREE(BA) — 0. 10 — PA-1000
FEHEBE(BA) — 0. 09 — PA-1000
11.18(2) B
/18(s) Bn FALE1—4—F(BR) — 0. 09 — PA-1000
AEE(ERN) — 0.13 — PA-1000
Bt ER (£) — 0.12 0.14 PA-1000
1117 i3
/1K) B W5 0. 20 — — PA-1000
Bt ER (£) — 0.16 0.17 PA-1000
1072 i3
/260K) BN W5 0. 26 — — PA-1000
1IFE=E(BA) — 0. 09 — PA-1000
2FH=E (BN) — 0. 09 — PA-1000
FL=E (BN) — 0. 09 — PA-1000
AEEERN) — 0. 08 — PA-1000
10720(K) ZY |REILAEE — 0.27 — PA-1000
Hih — 0. 28 — PA-1000
z4 — 0. 25 — PA-1000
BEmRAE — 0. 26 — PA-1000
IEP1ERIE — 0. 29 — PA-1000
=, B gER (L) — 0.14 0.15 PA-1000
101 £l
/190K) &Y b5 0. 31 — — PA-1000
Bt ER (1) — 0.17 0.16 PA-1000
10712 =5
0/120K) BEh Wi 0.19 _ — PA-1000
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Byl Byl AEE (XA —N )L ) ;
p: KA p:| =1 HE
Al E B - K% A 5E i em 506 100cT B 35 =3
o |EuthE (1) — 0. 25 0. 23 PA-1000
1076 £l
/6(R) &Y b5 0.34 — — PA-1000
gith o ER (1) — 0. 20 0.19 PA-1000
9,728 &
/280K) BN Wi5 0. 37 — — PA-1000
=, |EhFLER () — 0.17 0.17 PA-1000
9,722 £l
(&) &Y b5 0. 23 — — PA-1000
IFE=E(BA) — 0. 09 — PA-1000
2FH = (BN) — 0. 09 — PA-1000
FL=E (BN) — 0. 09 — PA-1000
AEEERN) — 0. 08 — PA-1000
9.7200K) EY |RKEILEIE — 0. 24 — PA-1000
Hih — 0. 28 — PA-1000
z4 — 0. 31 — PA-1000
B EmAE — 0. 28 — PA-1000
IEP4ERIE — 0. 23 — PA-1000
Bt ER (£) — 0.17 0.17 PA-1000
14 i3
8/14(K) BN W5 0. 23 — — PA-1000
Bt ER (£) — 0.17 0.18 PA-1000
7 =5
8/710K) B Wi 0. 28 _ — PA-1000
Bt ER (1) — 0. 20 0.19 PA-1000
o(k) BE
8/3004) EhL Wi 0. 24 _ — PA-1000
1IFE=E(BA) — 0. 09 — PA-1000
FH=E (BRN) — 0. 09 — PA-1000
26(&) B
8/26(%) Mt IFHE (BR) — 0. 09 — PA-1000
AEE(ERN) — 0. 08 — PA-1000
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5cm 50cm 100cm
iy 3 _ -
8.240K) B gith M ER (1) 0.18 0.17 PA-1000
fibi5 0. 29 — — PA-1000
iy 3 _ -
8170K) B gith M ER (1) 0.19 0.18 PA-1000
fibi5 0. 35 — — PA-1000
iy 3 _ -
8.100K) Bh gith M ER (1) 0. 20 0.19 PA-1000
fibi5 0. 36 — — PA-1000
iy 3 _ -
830k 2Y gith M ER (1) 0. 22 0. 21 PA-1000
b1z 0. 28 — — PA-1000
3 _ —
1070k BY Bt ER () 0. 21 0. 21 PA-1000
b1z 0. 35 — — PA-1000
3 _ —
121 0K) BY Bt ER () 0. 21 0. 22 PA-1000
b1z 0. 36 — — PA-1000
77130K) Bn |BuhsubER () — 0. 25 0. 21 RDS-30
7.76(K) Bn |BthdulhER (L) — 0. 32 0. 22 RDS-30
6.7290K) MBEn |EBhsLER(X) — 0. 29 0. 20 RDS-30
(I _ _
6220k Sy [PotRDE (L) 0. 26 0.24 RDS-30
5 0. 32 — — RDS-30
FERE23E e DvER (1) — 0. 24 0. 25 RDS-30
6/150K) &Y |5 0. 26 — — RDS-30
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